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How to use CPLEX?
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How to use CPLEX?

» as.mod  int i_max = ...;// ITORAFDRKIE
int j_max = ...;// BOHFZAFDHRKIE

range I = 1..i_max;// 1TOHRAFDEE [1..i_max]ZETE
range J = 1..j max;// SDHZFODERE [1..j max]ZIETE

int c[I,3] = ...;// FHEfECij(size:IXJ)
dvar int+ x[I,J] in 0..1;// EHEE :0-1X M (size:IXx )

maximize
sum(i in I) sum(j in J) c[i,7]*x[1,7];
subject to{
forall(i in I) {
sum(j in J) x[1i,]] == 1;
}s5
forall(j in J) {
sum(i in I) x[i,37] <= 1;
}s5
}s5
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» asexl.dat i max = 3;
j_max = 3;

c =

[2 2 4]
[5 3 2]
[4 1 3]
1;
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